

- one "tough" undet. coeff's
- variation of parameters

Ex. $y'' + 2y' + 5y = 4e^{-t} \cos(2t)$
 $y(0) = 1, y'(0) = 0$

$$\rightarrow r^2 + 2r + 5 = 0 \quad \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$\rightarrow \frac{-2 \pm \sqrt{4 - 4 \cdot 1 \cdot 5}}{2} = \frac{-2 \pm i\sqrt{16}}{2} = -1 \pm i\frac{4}{2}$$

$$= -1 \pm 2i$$

So the roots are $r_1 = -1 + 2i$
 $r_2 = -1 - 2i$

Hom. solⁿ: of the form $e^{\lambda t} (c_1 \cos(2t) + c_2 \sin(2t))$

$$y_h(t) = e^{-t} (c_1 \cos(2t) + c_2 \sin(2t)) \rightarrow \text{no } t!$$

Yes!

Particular: need a good guess.

$$\cancel{Ae^{-t} \cos(2t)} + \cancel{Be^{-t} \sin(2t)}$$

$$\cancel{Ae^{-t} \cos(2t)} \rightarrow \text{hom. sol}^n !!$$

$At e^{-t} \cos(2t) \rightarrow$ not enough info!
 plug in and find $A=0 \dots$
 no good!

$$y_p(t) = \cancel{A_1 t^2} + A_2 t + \cancel{A_3} e^{-t} \cos(2t) + \cancel{B_1 t^2} + B_2 t + \cancel{B_3} e^{-t} \sin(2t)$$

too much information!
 plug in and find $A_1 = B_1 = 0$

So! $y_p(t) = Ae^{-t} \cos(2t) + Be^{-t} \sin(2t)$

Plug into eqⁿ to find: $A = 0, B = 1$

So, $y_p(t) = t e^{-t} \sin(2t)$

$$y(t) = y_h(t) + y_p(t) = e^{-t} (c_1 \cos(2t) + c_2 \sin(2t)) + t e^{-t} \sin(2t)$$

$$y(0) = e^0 (c_1 \cos(0) + c_2 \sin(0)) + 0$$

$$= c_1 (1 + 0) = c_1$$

$$y(0) = 1 = c_1 \Rightarrow c_1 = 1$$

$$y'(t) = -e^{-t} (c_1 \cos(2t) + c_2 \sin(2t)) + e^{-t} (-2c_1 \sin(2t) + 2c_2 \cos(2t))$$

$$+ e^{-t} \sin(2t) = t e^{-t} \sin(2t) + 2t e^{-t} \cos(2t)$$

$$y'(0) = -e^0 (c_1 \cos(0) + 0) + e^0 (0 + 2c_2 \cos(0))$$

$$+ 0 - 0 + 0$$

$$= -1 + 2c_2 = 0$$

$$\Rightarrow 2c_2 = 1$$

$$\Rightarrow c_2 = 1/2$$

Final solution: $y(t) = e^{-t} (\cos(2t) + \frac{1}{2} \sin(2t)) + t e^{-t} \sin(2t)$

Variation of Parameters: solve $y'' + p(x)y' + q(x)y = r(x)$

$$y_p = y_1 u_1 + y_2 u_2, \text{ where}$$

$$u_1 = - \int \frac{y_2 R}{W(y_1, y_2)} dx$$

$$u_2 = \int \frac{y_1 R}{W(y_1, y_2)} dx$$

Ex. $y'' + 2y' + y = e^{-x} \sin(x) = R(x)$

1. hom. solⁿ: $\frac{-2 \pm \sqrt{4 - 4 \cdot 1 \cdot 1}}{2 \cdot 1} = -1$, real repeated

$$y_h(x) = c_1 y_1 + c_2 y_2 = c_1 \underbrace{e^{-x}}_{y_1} + c_2 \underbrace{x e^{-x}}_{y_2}$$

2. Wronskian: $\begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} = \begin{vmatrix} e^{-x} & x e^{-x} \\ -e^{-x} & e^{-x} - x e^{-x} \end{vmatrix}$

$$= e^{-x} (e^{-x} - x e^{-x}) + e^{-x} x e^{-x}$$

$$= e^{-2x} \neq 0 \text{ (good news!)}$$

3. Compute u_1 & u_2 !

$$u_1 = - \int \frac{y_2 R}{W(y_1, y_2)} dx = - \int \frac{x e^{-x} e^{-x} \sin(x)}{e^{-2x}} dx$$

$$= - \int x \sin(x) dx$$

$$= x \cos(x) - \int \cos(x) dx$$

$$= x \cos(x) - \sin(x)$$

$u = x \quad dv = \sin(x)$
 $du = 1 \quad v = -\cos(x)$

$$u_2 = + \int \frac{y_1 R}{W(y_1, y_2)} dx = \int \frac{e^{-x} e^{-x} \sin(x)}{e^{-2x}} dx = \int \sin(x) dx$$

$$= -\cos(x)$$

4. Put together y_p !

$$y_p = y_1 u_1 + y_2 u_2$$

$$= e^{-x} (x \cos(x) - \sin(x)) + x e^{-x} (-\cos(x))$$

$$= -e^{-x} \sin(x)$$

Thus! $y = y_h + y_p = c_1 e^{-x} + c_2 x e^{-x} - e^{-x} \sin(x)$

Ex. $y'' + y = \tan(x)$ Cannot be done with undet. coeff's!

1. hom. solⁿ! $r^2 + 1 = 0$
 $r = \pm i$
 $y_h(x) = c_1 \underbrace{\cos(x)}_{y_1} + c_2 \underbrace{\sin(x)}_{y_2}$

$$y_1 = \cos(x)$$

$$y_2 = \sin(x)$$

2. Wronskian! $\begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} = \begin{vmatrix} \cos(x) & \sin(x) \\ -\sin(x) & \cos(x) \end{vmatrix}$

$$= \cos^2(x) + \sin^2(x)$$

$$= 1 \text{ (nice!!)}$$

3. solve for u_1 & u_2 !

$$u_1 = - \int \frac{y_2 R}{W(y_1, y_2)} dx = - \int \frac{\sin(x) \tan(x)}{1} dx$$

$$= - \int \frac{\sin^2(x)}{\cos(x)} dx$$

$$= - \int \frac{(1 - \cos^2(x))}{\cos(x)} dx$$

$$= - \int \sec(x) - \cos(x) dx = \int \cos(x) - \sec(x) dx$$

$$= \sin(x) - \ln|\sec(x) + \tan(x)|$$

Use $\sin^2(x) = 1 - \cos^2(x)$

$$u_2 = + \int \frac{y_1 R}{W(y_1, y_2)} dx = \int \frac{\cos(x) \tan(x)}{1} dx$$

$$= \int \frac{\cos(x) \sin(x)}{\cos(x)} dx$$

$$= \int \sin(x) dx$$

$$= -\cos(x)$$

4. Put it together!

$$y_p = y_1 u_1 + y_2 u_2$$

$$= \cos(x) (\sin(x) - \ln|\sec(x) + \tan(x)|) + \sin(x) (-\cos(x))$$

$$= -\cos(x) \ln|\sec(x) + \tan(x)|$$

5. Final solⁿ!

$$y = y_h + y_p$$

$$= c_1 \cos(x) + c_2 \sin(x) - \cos(x) \ln|\sec(x) + \tan(x)|$$